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1. A	man	invested	₹3150.00	in	3.00%	₹30.00	shares	quoted	at	₹45.00.	When	the	market	value	of	these	shares	rose
to	₹125.00,	he	sold	some	shares,	just	enough	to	raise₹4375.00,	find	number	of	shares	he	still	holds.
(i) 30 (ii) 38 (iii) 35 (iv) 32 (v) 40

2.
A	man	invested	₹22325.00	in	9.00%	₹200.00	shares	quoted	at	₹235.00.	When	the	market	value	of	these	shares
rose	 to	 ₹305.00,	 he	 sold	 some	 shares,	 just	 enough	 to	 raise₹7015.00,	 find	 the	 dividend	 due	 to	 him	 on	 the
remaining	shares.
(i) ₹1296.00 (ii) ₹1446.00 (iii) ₹1116.00 (iv) ₹1566.00 (v) ₹1066.00

3.

Which	of	the	following	is	the	best	investment?
15.00%,₹100.00shares	at₹155.00
16.00%,₹100.00shares	at₹135.00
14.00%,₹100.00shares	at₹110.00
17.00%,₹100.00shares	at₹125.00
13.00%,₹100.00shares	at₹120.00
(i) 16.00%	,	₹100.00	shares	at	₹135.00 (ii) 13.00%	,	₹100.00	shares	at	₹120.00

(iii) 15.00%	,	₹100.00	shares	at	₹155.00 (iv) 17.00%	,	₹100.00	shares	at	₹125.00

(v) 14.00%	,	₹100.00	shares	at	₹110.00

4. Divide	₹161000.00	 into	two	parts	such	that	 if	one	part	 is	 invested	 in	2.00%,	₹100.00	shares	at	₹20.00	discount
and	the	other	in	4.00%,	₹100.00	shares	at	₹30.00	discount	,	the	annual	incomes	are	equal.
(i) ₹112000.00	,	₹49000.00 (ii) ₹112800.00	,	₹48200.00 (iii) ₹111300.00	,	₹49700.00

(iv) ₹49000.00	,	₹112000.00 (v) ₹113600.00	,	₹47400.00

5. Divide	₹258125.00	 into	two	parts	such	that	 if	one	part	 is	 invested	 in	2.00%,	₹100.00	shares	at	₹20.00	discount
and	the	other	in	4.00%,	₹100.00	shares	at	₹35.00	premium	,	the	annual	incomes	are	equal.
(i) ₹141600.00	,	₹116525.00 (ii) ₹118125.00	,	₹140000.00 (iii) ₹138650.00	,	₹119475.00

(iv) ₹140000.00	,	₹118125.00 (v) ₹140800.00	,	₹117325.00

6. Divide	₹148500.00	into	two	parts	such	that	if	one	part	 is	 invested	in	2.00%,	₹100.00	shares	at	₹10.00	premium
and	the	other	in	4.00%,	₹100.00	shares	at	₹50.00	discount	,	the	annual	incomes	are	equal.
(i) ₹123200.00	,	₹25300.00 (ii) ₹120500.00	,	₹28000.00 (iii) ₹122100.00	,	₹26400.00

(iv) ₹27500.00	,	₹121000.00 (v) ₹121000.00	,	₹27500.00

7. Divide	₹100375.00	into	two	parts	such	that	if	one	part	 is	 invested	in	2.00%,	₹100.00	shares	at	₹10.00	premium
and	the	other	in	4.00%,	₹100.00	shares	at	₹45.00	premium	,	the	annual	incomes	are	equal.
(i) ₹60500.00	,	₹39875.00 (ii) ₹61600.00	,	₹38775.00 (iii) ₹62700.00	,	₹37675.00

(iv) ₹59050.00	,	₹41325.00 (v) ₹39875.00	,	₹60500.00



8.
A	man	bought	675	shares	of	₹125.00	par	value	paying	dividend	of	7.00%	per	annum.	He	sold	them	when	the	price
became	₹250.00	and	invested	the	proceeds	in	₹1800.00	shares,	paying	13.00%	dividend	and	quoted	at	₹2250.00.
Find	the	change	in	his	annual	income.
(i) ₹11653.75	increased (ii) ₹11653.75	decreased (iii) ₹11643.75	increased (iv) ₹11643.75	decreased

(v) ₹11633.75	increased

9. A	man	 invested	₹7425.00	 in	4.00%	₹120.00	shares	quoted	at	₹165.00.	When	the	market	value	of	 these	shares
rose	to	₹215.00,	he	sold	some	shares,	just	enough	to	raise₹4730.00,	find	number	of	shares	he	still	holds.
(i) 20 (ii) 23 (iii) 26 (iv) 28 (v) 18

10.
A	man	invested	₹7200.00	in	8.00%	₹130.00	shares	quoted	at	₹180.00.	When	the	market	value	of	these	shares
rose	 to	 ₹255.00,	 he	 sold	 some	 shares,	 just	 enough	 to	 raise₹5100.00,	 find	 the	 dividend	 due	 to	 him	 on	 the
remaining	shares.
(i) ₹191.00 (ii) ₹236.00 (iii) ₹208.00 (iv) ₹213.00 (v) ₹196.00

11.

Which	of	the	following	is	the	best	investment?
4.00%,₹100.00shares	at₹150.00
5.00%,₹100.00shares	at₹110.00
3.00%,₹100.00shares	at₹130.00
6.00%,₹100.00shares	at₹120.00
2.00%,₹100.00shares	at₹145.00
(i) 4.00%	,	₹100.00	shares	at	₹150.00 (ii) 5.00%	,	₹100.00	shares	at	₹110.00

(iii) 2.00%	,	₹100.00	shares	at	₹145.00 (iv) 3.00%	,	₹100.00	shares	at	₹130.00

(v) 6.00%	,	₹100.00	shares	at	₹120.00

12. Divide	₹56375.00	 into	two	parts	such	that	 if	one	part	 is	 invested	 in	2.00%,	₹100.00	shares	at	₹25.00	discount
and	the	other	in	4.00%,	₹100.00	shares	at	₹45.00	discount	,	the	annual	incomes	are	equal.
(i) ₹42750.00	,	₹13625.00 (ii) ₹40700.00	,	₹15675.00 (iii) ₹15125.00	,	₹41250.00

(iv) ₹42000.00	,	₹14375.00 (v) ₹41250.00	,	₹15125.00

13. Divide	₹123250.00	into	two	parts	such	that	if	one	part	is	invested	in	2.00%,	₹100.00	shares	at	₹25.00	discount
and	the	other	in	4.00%,	₹100.00	shares	at	₹40.00	premium	,	the	annual	incomes	are	equal.
(i) ₹62350.00	,	₹60900.00 (ii) ₹59500.00	,	₹63750.00 (iii) ₹63750.00	,	₹59500.00

(iv) ₹65250.00	,	₹58000.00 (v) ₹64500.00	,	₹58750.00

14. Divide	₹170500.00	into	two	parts	such	that	if	one	part	is	invested	in	2.00%,	₹100.00	shares	at	₹20.00	premium
and	the	other	in	4.00%,	₹100.00	shares	at	₹30.00	discount	,	the	annual	incomes	are	equal.
(i) ₹38500.00	,	₹132000.00 (ii) ₹131300.00	,	₹39200.00 (iii) ₹133200.00	,	₹37300.00

(iv) ₹132000.00	,	₹38500.00 (v) ₹134400.00	,	₹36100.00

15. Divide	₹228125.00	into	two	parts	such	that	if	one	part	is	invested	in	2.00%,	₹100.00	shares	at	₹10.00	premium
and	the	other	in	4.00%,	₹100.00	shares	at	₹45.00	premium	,	the	annual	incomes	are	equal.
(i) ₹90625.00	,	₹137500.00 (ii) ₹137500.00	,	₹90625.00 (iii) ₹136050.00	,	₹92075.00

(iv) ₹138600.00	,	₹89525.00 (v) ₹139700.00	,	₹88425.00



16.
A	man	bought	1200	shares	of	₹700.00	par	value	paying	dividend	of	12.00%	per	annum.	He	sold	them	when	the
price	 became	 ₹875.00	 and	 invested	 the	 proceeds	 in	 ₹700.00	 shares,	 paying	 5.00%	 dividend	 and	 quoted	 at
₹1000.00.	Find	the	change	in	his	annual	income.
(i) ₹64040.00	decreased (ii) ₹64050.00	increased (iii) ₹64050.00	decreased (iv) ₹64060.00	increased

(v) ₹64060.00	decreased



 1)	(iii)  2)	(i)  3)	(iv)  4)	(i)  5)	(iv)  6)	(v)
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